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Solve the following system of equations:

Question 1: 11x+ 15y + 23 =0and 7x-2y—-20=0

Soln:

The given system of equation is

1MXx+15y+23=0 ....cocooiiiiin, (i)
7X-2y-20=0 ..o (i)
From (ii)

2y=7x-20

y= 7x-202 7X_220 .................................... (ii)

Substituting the value of y in equation (i) we get,

= 11x+15(7x-202)+23=011x + 15(22%) +23 = 0

= 11x+(105x-3002 )+23=011x + (12222 ) +23 = 0

22+105x-300+46 ~ _
2 )=0

= (22+105x-300+462 )=0(
=127x = 254 = x=2
Putting the value of x in the equation (iii)

7(2)-20

= y= 7(2)-202 —

y=-3

The value of x and y are 2 and -3 respectively.

Question 2: 3x -7y +10=0,y-2x-3=0

Soln:

The given system of equation is



From (ii)

y-2x-3=0

Substituting the value of y in equation (i) we get,
= 3x-7(2x+3)+10 =0

= 3x+14x-21+10=0

=-11x=11

= x=-1

Putting the value of x in the equation (iii)
=y=2(-1)+3

y=1

The value of x and y are -1 and 1 respectively.

Question 3: 0.4x + 0.3y = 1.7, 0.7x - 0.2y = 0.8

Soln:

The given system of equation is
0.4x+0.3y=1.7

0.7x-0.2y=0.8

Multiplying both sides by 10

AXA3Y=17 oo 0]
TX-2Y=8 (i)
From (ii)

7x-2y=8

842
x=8+2y7 =0 = 0 ..o

Substituting the value of y in equation (i) we get,
2
= 4(8+2y7=022L = 0)+3y=17

= 32+29y=119



= 29y=87
= y=3
Putting the value of y in the equation (iii)

8+2(3)

=x= 8+2(3)7=0—— =0

=x=147=0- =0
=x=2

The value of x and y are 2 and 3 respectively.

Question 4

x2+y=0.8% +y=0.8

Tx+y2=10—— =10
x+3
Soln:

The given system of equation is

x2+y=0.8% +y =0.8 7x+2=10—L- =10

x+<
2
Therefore x+2y=1.6

- 14 _
142x+y—102x+y =10

x+2y=1.6

7=10x+5y

Multiplying both sides by 10
10x+20y=16 ......cooieiiiiienn, (i)
10X+BY=7 oo (i)
Subtracting two equations we get,
15y=9

353
y=352%

x=1.6-2(35)1.6 —2(3)



1.6-(65)1.6—(2)
=252

The value of x and y are 25% and 35% respectively.

Question 5
7(y+3)-2(x+3) = 14
4(y-2)+3(x-3) = 2

Soln:

The given system of equation is

T(y+3)-2(x+3) =14 0]
A(y-2)43(X=-3) = 2. (ii)
From (i)

7y+21-2x-4=14
7y=14+4-21+2x

2x—3
5

=y=2x-35
From (ii)
= 4y-8+3x-9=2

= 4y+3x-17-2=0
=4y+3x-19=0 ................. (iii)

Substituting the value of y in equation (iii)

2x

=4(2x-35 22 )+3x-19=0
= 8x-12+21x-133=0

= 29x=145

=x=5

Putting the value of x in the above equation

=y=1



The value of x and y are 5 and 1 respectively.

Question 6
=E X Y —
x7'|'y3 —57 + 3 5

—vo=@X — Y =
x2=y9 62 ) 6

Soln:

The given system of equation is

From (i)

x7+y3=5% +

W<
I
)

105-7y

=X=105-7y3 —

From (ii)
X2=y9 62 5 6
=0x-2y=108 ........ccooii (iii)

Substituting the value of x in equation (iii) we get,

= 9(105-7y3 =" )-2y=108

= 945-63y-6y=324

=945-324=69y

=69y=621

=y=9

Putting the value of y in the above equation

105-7(9)

= X=105-7(9)3 —

y= 14

The value of x and y are 5 and 14 respectively.



Question 7

- Y
x3+y4—11% +37 11

5x6—y3==7% — 2 =7
Soln:

The given system of equation is

x3+y4=113 + 2 =11 i, (i)

From (i)

4x+3y
12

=AX+3Y=132. o) (iii)

ax+3y12=11 =11

From (ii)

5x+2
5x+2y6 =—7% =—7

=OX-2y=-42 .. .. (iv)

Let us eliminate y from the given equations. The co efficient of y in the equation (iii) and (iv) are 3 and
2 respectively. The L.C.M of 3 and 2 is 6. So, we make the coefficient of y equal to 6 in the two
equations.

Multiplying equation (iii)*2 and (iv)*3 we get
=8x+6y=264 ................oii (V)
=15x-6y=-126 .............cooiiiinl, (vi)
Adding equation (v) and (vi)
8x+15x=264-126

=23x=138

x=6

Putting the value of x in the equation (iii)

= 24+3y=132

=3y=108



y= 36

The value of x and y are 36 and 6 respectively.

Question 8
ax+3y=8- +3y =8

ex—4y=—5% — 4y = -5

Soln:
taking 1x=utaking Xi =u

The new equation becomes

From (ii)

=6(8-3y4=U~—" = u )-dy=-5

=:x&ew2—4y=—53®;”)-—4y::—5
=2¢@w®ﬂ=—5%t%jz-=—5

= 24-17y=-10

=-17y=-34

= y=2

Putting y=2 in u = 8-3y4=U 8_jy =u we get,
=U=8-3(2)4 2= 4(2)

= 36

=U=8-64

==24 2
=u=24%



=x=u=2

So the Solution of the given system of equation is x=2 and y =2

Question 9
xX+y2=4x + % =4

2y+x3=B2y + 3 =5

Soln:

The given system of equation is:

X+y2=4x+ 3 =4 . (i)

2y+x3=52y + X =5 e, (ii)

From (i) we get,

2x+y
2

2x+y2=4 =4
= 2x+y=8
=y=8-2x

From (ii) we get,

Substituting y=8-2x in (iii) , we get
= x+6(8-2x)=15

= x+48-12x=15

=-11x=15-48

= -11x=-33

=x=3

Putting x=3 in y 8-2x, we get
y=8-(2*3)

=y=8-6=2

The Solution of the given system of equation are x=3 and y=2 respectively.



Question 10

X+2y= 32%

o] w

2x+y= 32
Soln:

The given system of equation is

X¥2y= 3235 (i)
2X+Y= 323 i, (ii)

Let us eliminate y from the given equations. The coefficients of y in the given equations are 2 and 1
respectively. The L.C.M of 2 and 1 is 2. So, we make the coefficient of y equal to 2 in the two
equations.

Multiplying equation (i)*1 and (ii)*2

Subtracting equation (iii) from (iv)
4X-X+2y-2y=3- x+2y= 32 %

= 3x= x+2y= 6-32 %

=3x= 323

=x=124

Putting x=12 % in equation (iv)
4(123)+2y=3

= 2+2y=3

=y=124

The Solution of the system of equation is x=12 % and y= 12%

Question 11

\/§x+\/§y=0\/ 2x+V3y=0



V3x—=V8y=0V 3x—V 8y =0

Soln:

N2x+V3y=0V 2x +V 3y =0 oo (i)
V3x=V8Y=0V 3x =V 8Y =0 .ovoooorreeee (i)
From equation (i)

=x=-\3y\2 ‘f; ................. (iii)

Substituting this value in equation (ii) we obtain
—/3;

V3(~By2)=VBy=0V 3(—2) ~V By = 0 -37\2-2V2y=0=L — 2\ 2y =0 y(-32-212)=0

y(F5-2V2)=0

:y:O
Substituting the value of y in equation (iii) we obtain
=x=0

The value of x and y are 0 and 0 respectively.

Question 12

% +2=10 2y-x+117=102y — <1~ 19

3x—y+711+2=103x — Z

Soln:

The given system of equation is:

y+7

3X—y+711+2=103X—T+2: 10 ... (i)
2y=x+117=102y = 2L =10 ..o, (ii)
From equation (i)

33x—y—7+22

33x-y-7+2211=10 3

=33x -y+15=110
=33x+15-110=y
=y=33x-95



From equation (ii)

14+x+11 — 109

14+x+117=109 =

= 14y+x+11=70

= 14y+x=70-11

=14y+x=59 ... (iii)
Substituting y = 33x-95 in (iii) we get,
14(33x-95)+x=59

= 462x-1330+x=59

= 463x=1389

= x=3

Putting x=3 in y=33x-95 we get,
=y=33(3)-95

=99-95=4

The Solution of the given system of equation is 3 and 4 respectively.

Question 13

2x=3y=92x— § =9 3x+7y=23x+ 7 =2

Soln:

2Xx—3y=92x — % =0 (i)
3x+7y=23x + % = (ii)

2Xx-3U=9 ... (iii)
BXHTU=2. it (iv)
From (iii)

2x=9+3u

=X= 9+3u2 9+§u

9+3u
2

Substituting the value x= 9+3u2 in equation (iv) we get,



9+3u

3(9+3u2 ——)+7u=2

= 27+9u+14u2 =2w =2

=27+23u=4

=u= -1

—y=tut =1

. A 9+3u

Putting u=-1 in =x= 9+3u2 5— We get,
9+3(—1)

=X= 9+3(-1)2 —

= x=3

The Solution of the given system of equation is 3 and -1 respectively.

Question 14

0.5x+0.7y=0.74

0.3x+0.5y=0.5

Soln:

The given system of equation is
0.5x+0.7y=0.74.............cooiii.l. (i)
0.3x-0.5y=0.5 ..o (i)
Multiplying both sides by 100

BOXHATOY=T4 oo (iii)
30x+50y=50 ..o (iv)

From (iii)

50x=74-70y

x=74-70y50=0 74;Z)Oy =0 (iii)

Substituting the value of y in equation (iv) we get,

74-70y
50

= 222-210y+250y=250

= 30(74-70y50=0

= 0)+50y=50

= 40y=28



=y=0.7
Putting the value of y in the equation (iii)

74-70(0.7)

55— 0

= x= 74-70(0.7)50=0
o —n25 _
=X=2550 —O% =0
=x=0.5

The value of x and y are 0.5 and 0.7 respectively.

Question 15

17x+16y=3-— + L =3 12x—13y=5-L — L =35
y 7x 6y y 2x 3y

Soln:

—n 1 1 _ :
17x+16y—3§+@ =3 (i)
12x—=13y=5-L — L =35 (ii)

Tx T3y D e

Multiplying (i) by 12 1 we get,

I 5

14X =16y =52 7= — 2= = S

6y 2
Solving equation (i) and (iii)

-2 1 1 _ i
17x+16y—37—X+— =3 (i)
14x= 16y =52 7 —
Adding we get,

17x+ 16y =3+52 2 + L =
x | 6y

oxl_
|
W
+
N3 [¥))

—y= 114 L
=x=114 7
When, x=114% we get,

Using equation (i)

11 + 1L =3

17(114) + 16y =3
(114) y 7(ﬁ) 6y

- - 1=
—2+1esy—32+6—y =3



16y %=1

=151
y=16

The Solution of the given system of equation is x=114 ﬁ and y= 16% respectively.

Question 16

—o 1 1 _
12x+H18y=25- + 5= =2

— 1 1 — 13
+12y=136-L + L =
13x+12y =136

2y 6
Soln:
Let 1x~+ =u
X
Let 1yl =v
y

w2+v3=24 + ¥ =2 3u+2v6=2¥ =2

BUHVEA2 oo 0

And, u3+v2= frac1 36% + % = fracl36

=v=3

1w+ =x= 12
u

1Vl =y= 13_
\% 3

Question 17

15u+2v=171u—5 +

< [ro

- —aar L o 1 — 36
=17 1u+1v—365u+v 3

Soln:

Let 1xl =u
X

Let 1y% v
15X+2y=17 .., (i)

XY= 36520 (ii)
y 5



From equation (i) we get,

2y=17-15x
=y= 17-15x2 17_215"

I 17-15x . o
Substituting y=17-15x2 —=— in equation (ii) we get,
= x+17-15x2 152 = 365 32
= ~1axt7e —2 X = 56530

5(-13x+17)=72
= -65x=-13

e 1
=X=15 3

Putting x=15 %in equation (i) , we get
154 +y=365 2

= y=7

=y=1y —= 17

1
7

< =

The Solution of the given system of equation is 5 and 17 %respectively.

Question 18

3x—1y=—9% —% =-9 2x+1y=5% + % =5

Soln:
Let 1x+ =u

X
Let 1yl =v

y
3U-v=-9..... (i)
2u+3Vv=5 (i)

Adding equation (i) and equation (iv) we get ,



9u+2u-3v+3v=-27+5

= u=-2

Putting u=-2 in equation (iv) we get,
2(-2)+3v=5

= 3v=9

=v=3

Hence x=1u—+= -12 2
u 2

Hence y=1vi= 13+
\4 J

Question 19
2x—3y=9xy%—§=% 2x+1y=9xy%+%=%
Soln:
- 2 3 _9 .
2x—3y—9xy;—§—g ........................... (i)
— 2 1 — 9 I
+y=oxy 2 +1L=2
2x+ 1y =0oxy = Ry e (ii)

Ay+9x=21 ... (iv)
From (iii) we get ,

3x= 9-2y

= x= 9-2y3 %

92y

q
J

Substituting x=9-2y3

in equation (iv) we get

9-2y

Q
D

= 4y+3(9-2y) =21

4x+9(9-2y3

)=21

= 2y=21-27
= y=3

92y

q
J

Putting y=3 in x= 9-2y3

we get,



(3)

=x= 9-2(3)3 =
=x=1

Hence the Solutions of the system of equation are 1 and 3 respectively.

Question 20

15x+16y=12—— + - =12 15x+16y=8—- +——8

+ L
6y

Soln:

1l
c

Let 1x+
X

1
Let 1y—= =v
etyy

u5+v6=12% + % =12

6utsv 12

=6u+5v30=12 30

= 6u+5v=360 ................ (i)
u3+3v7 % + 37V =8

Tut+9v =8

=7u+Ov2! —— 1

=7u-9v=168 ................ (ii)

Let us eliminate v from the equation (i) and (ii) . multiplying equation (i) by 9 and (ii) by 5
54u+35u=3240+840

89u=4080

=u= 408089 2080 4080

4080

Putting u =408089 ——— in equation (i) we get,

6( 408089 2280 4080 )+5v=360

= 2448089 ZH10 +5y=360

32040—24480

=5v=32040-2448089 )

= v= 756089 0"

7560

= V= 75605489 o 5,80



e 1512
=v= 151289 39

1 __ 89
1u T oK 894080 2030

1 _ 89
v =y=891512 1215

Question 27

exty =7x-y +3=" = L +3 120x+y) = 13(x—y) =—

Xty Xy

1
(xty)

Let 1(x+y)=U

)\ =V—1_ =
Let 1(x-y)=V ) A%

Then, the given system of equation becomes,

6u=7v+3

BU-7V=3... .. i (i)
— u — Vv

And u2—v35—§

3u=2v

3U-2v=0 .o (i)

Multiplying equation (ii) by 2 and (i) 1
6u-7v=3
6u-4v=0
Subtracting v=-1 in equation (ii) ,we get
3u-2(-1)=0
3u+2=0
3u=-2
-2

=u= —23T

Txcky # = -23 =

X+y= -32 % ......................... (v)

and v=-1

20xty)  3(xy)



Adding equation (v) and equation (vi) we get,
2x= ~32 =1

= Xx= -54 %

Putting x=-23 % in equation (vi)

=54 2 _y=-

=-54 —--y 1

= y= 14 L
=y= -14—

Question 28

Xy
Xty

Xyx+y =65 = % Xyy—X =6 y)i};( =6

Soln:

Xyx+y =65 % = %

5xy= 6(x+y)

Adding equation (i) and equation (ii) we get,
Bxy= 6y+6y

6xy=12y

X=2

Putting x=2 in equation (i) we get,
10y=12+6y

10-6y=12



4y=12
y=3

The Solution of the given system of equation is 2 and 3 respectively.

Question 29

22x+y+15x—y=5% + % =35 55x+y+45x—y=14% + % =14
1 _

Let 1x+y oy U

Let 1x-y _L=V
X~y
Soln:

Then the given system of equation becomes:

22U+45V=5 (i)

55u+45v=14 .....................l (iv)
Subtracting equation (iv) from equation (iii) , we get
66u-55u=15-14

= 11u=1

I 1

=u= 111 T

Putting =u= 111 ﬁ in equation (i) we get,
=2+15v=5

=15v=3

—y= 4z |

=v= 15 3

Now,




=XY=5 (vi)
Adding equation (v) and (vi) we get,
2x=16

=x=8

Putting the value of x in equation (v)
8+y=11

=y=3

The Solutions of the given system of equation are 8 and 3 respectively.

Question 30
— 5 2 _ —_ 15 7 _
5x+y — 2x—y =—1 o ey -1 15x+y+7x—y—10W + = - 10
1 _
Let 1x+y <y =u

Let 1x-y _L=V
X~y
Soln:

Then the given system of equation becomes:

Subtracting equation (iv) from equation (iii) , we get
-2v=-1-1

= -2v=-2

=v=1

Now,




Adding equation (v) and (vi) we get,
2x=6

=x=3

Putting the value of x in equation (v)
3+y=5

=y=2

The Solutions of the given system of equation are 3 and 2 respectively.

Question 31
—n 3 2 _ =49 4 _
3x+y +2x-y =2 oy + = =2 ox+ty—4x-y 1—X+y y
I _
Let 1x+y Py =u

Let 1x-y _L=V
X—y
Soln:

Then the given system of equation becomes:

BUF2VE2 oo 0

Adding equation (iii) and (iv) we get,

45u=5

=u=3

Subtracting equation (iv) from equation (iii) , we get

2v=2-1



Adding equation (v) and (vi) we get,
2x=5

=x=52 2

Putting the value of x in equation (v)
52 2 +y=11

1

:y=122

The Solutions of the given system of equation are 52% and 12% respectively.

Question 32
12(x+2y) +53(3x=2y) = -32 — L — + — 5 = 3 54042y)—35(3x-2y) =616 —>— — —3
2xt2y) | 303x-2y) 2 4x+2y)  30x-2y)
1
Let 1x+y oy =u

Let 1x-y +=V
X7y
Soln:

Then the given system of equation becomes:

u2+5v3=-32 5 + 3 > 3ur10v6=-32 = >
3ut10v=-9 ... (i)
5u4—3v5=6160 7 3 0

25u-12v=613 %" ..o (ii)



Multiplying equation (i) by 12 and (ii) by 10
36u+120v=-108 ..........cceveeiinn, (iii)
250u+120v=6103 2% ..., (iv)
Adding equation (iv) and equation (iii) , we get
36u+250u=6103 $1°-108

286

)
J

=286u=2863

=u=13 1
Putting u=613 % in equation (i)
3(134)+10v=-9

=y=-1

Now,

Putting x=12 1 in equation (v) we get,
1
12 5+2y=3
=y=543
The Solutions of the given system of equation are 12%

And 54% respectively.

Question 34
x+y=5xy
3x+2y=13xy

Soln:



The given system of equations is:

3X+2y=13XY i (iv)
Subtracting equation (iii) from equation (iv) we get,
3x-2x=13xy-10xy

= x=3xy

vl _
1B=Yy3 =Y
Puttingy = 13=y% =y in equation (i) we get,
=xty=5(x)( 135)
— X _ 5x
= X+x3x3—x— 5x37
= 2x=1
o gn=yl —
= X= 12—y§ =y

Hence Solution of the given system of equation is 12% and 13%

Question 35

X+y=Xy

x-yxy =6 X}g =6

Soln:
XHFYEXY o (1)
x-yxy =6 X;}}: =6 (i)

Adding equation (i) and (ii) we get,
2x=2xy+6xy



=2x= 6xy

= y: X+y=xy

=y=14

Putting =y= 14% in equation (i) , we get,

- 1_ 1

=xX+14 Z—ZX( 14 Z)

= x=-12 %

Hence the Solution of the given system of equation is = x=-12 %

And y= 14% respectively.

Question 36
2(3u-v)=5uv
2(u+3v)=5uv
Solution

2(3u-v)=5uv

2(u+3v)=5uv
2u+6V=5uV ... (i)

Adding equation (iii) and equation (iv) we get,
18u+2u=15uv+5uv

=v=1

Putting v=1 in equation (i) we get,

6u-2=5u

=u=2

Hence the Solution of the given system of Solution of equation is 2 and 1 respectively.



Question 37

2 3

23x+2y + 33x-2y =175 X2y + 2y

1 _
Let 13x+2y W—U

1 _
Let 13x-2y W—V

Soln:

Then the given system of equation becomes:

2U+3VE175 g5 e (i)

Multiplying equation (ii) by 3

Adding equation (iv) and equation (iii) , we get
15u-2u=-175 %+5

—121= 13

—13u—1357;

—=qz 1

=u=15 3

Putting u= 15% in equation (i)

5(15 £ )+v=-2

Adding equation (iv) and (v) we get,
6x=6

=x=1

|

1

=L 13x2y—13x-2y =2

3xH2y

3x—2y

2



Putting the value of x in equation (v) we get,
3+2y=5
= y=1

The Solutions of the given system of equation are 1 and 1 respectively.

Question 38

44x+y + 36x-y =4% + Xig =4 s5x+y—40x-y=13 Xisy - Xi(; =13
1 _

Let1x+yx+y =u

Let 1x-y #=V

Soln:

Then the given system of equation becomes:
44u+30v=10 ... (i)
S55u+40v=13 o (i)

Subtracting equation (iv) from (iii) we get,
176-165u=40-39

=u=111 1

Putting the value of u in equation (i)
44(111 1-)+30v=10

= 4+30v=10

=30v=6

1 -
Xty

1x+y u




Adding equation (v) and (vi) we get,
2x=16

=x=8

Putting the value of x in equation (v)
8+y=11

=y=3

The Solutions of the given system of equation are 8 and 3 respectively.

Question 40
—4 10 2 _ - ——n 15 5 _ _
10x+y+2x—y—4w+g =4 15x+y=5x-y= 2X+y = 2
1 _
Let 1x+y oy P
1 _
Let 1x-y F—q
Soln:
Then the given system of equation becomes:
10p+29=4 ..o (i)
15p-50=-2 ..o (i)
Multiplying equation (i) by 4 and (ii) by 3
176u+120v=40 ..................coenls (i)
165u+120v=39 ..............ooeii (iv)
Using cross multiplication method we get,
p4-20=q-60-20 = 1-50-30 2= = —oo = —to p-16=1-80 1 = —g= q-80=1-80 - = -

p= 15% and g=1

1

p=1x+y Xy
q=1xy
XHy=5. 3
XY=1 4

Adding equation 3 and 4 we get,



x=3
Substituting the value of x in equation 3 we get,
y=2

The Solution of the given system of Solution is 3 and 2 respectively.

Question 41
1xty+ 13y =3a=— + L =3 = 1@y —12@xy) =18t — — L =L
y y 3x+y 3x—y 4 y y 2(3x+y) 2(3x—y) 8

1

Let 1x-1 ﬁ=p
1 _

Let 1y-2 yTz =qg

Soln:

Then the given system of equation becomes:

5x—1+1y—2=2%+y%2 = 1

6x—1—3y—2=1_i1—y_i2=1 ........................................... 2

Can be written as 5p+q=2 ...........coiiiiiiiii 3

BP-30=T oo 4

Equation 3 and 4 from a pair of linear equation in the general form. Now, we can use any method to
solve these equations.

We get p=13%
9= 13 %

Substituting the 1x-1 ﬁ for p , we have

1x-1 —— = 131
x—1 3
x-1=3
x=4
N S
1y-2 55 = 133

y-2 =3



y=5

The Solution of the required pair of equation is 4 and 5 respectively.

Question 42

7x—2 8x+7
> =5 8x+7yxy=15 t
Xy Xy

7x=2yxy =5 =15

Soln:

1_
Let1x;—p
Let 1y L=
e Yy q

The given equation s reduce to:

-2p+79=5

=-2p+7Q-5=0 .., 3
7p+8q=15

=T7p+80-15=0 .....ccoiiiii 4

Using cross multiplication method we get,

—105—(—40) = q-30-35=1-16— p =_9 =_1 _as=1-a5 P_ = _1 _asc=1_
p~105-(-40) = q-80-36 = 1-16-49 —o——— o~ Tiegg P65T1-65 == = —= q-65=1-65

x=1 and y=1

Question 43
152x-378y=-74
-378x+152y=-604

Soln:



152X-378y=-T4 ..., 1
-378x+152y=-604 ...t 2
Adding the equations 1 and 2 , we obtain

-226x-226y=-678

Subtracting the equation 2 from equation 1, we obtain

530x+530y=530

Adding equations 3 and 4 we obtain,
2x=4
= x=2

Substituting the value of x in equation 3 we obtain y=1

Question 44

99x+101y=409

101x+99y=501

Soln:

The given system of equation are :
99x+101y=409 .......coooiiiiiiiiiii 1
101x+99y=501.......ccoiiiiiiie e, 2
Adding equation 1 and 2 we get ,
99x+101x+101y+99y= 49+501

= 200(x+y) = 1000

Subtracting equation 1 from 2
101x-99x+99y-101y = 501-499

= 2(x-y)=2

XY= 4
Adding equation 3 and 4 we get,



Putting x=3 in equation 3 we get,
3+y =5
=y=2

The Solution of the given system of equation is 3 and 2 respectively.

Question 45

23x-29y=98

29x-23y=110

Soln:

23%-29y=98 ... . 1
29%-23y=110 ..t 2
Adding equation 1 and 2 we get,

= 6(x+y)=12

Subtracting equation 1 from 2 we get,

52(x-y) = 208

Adding equation 3 and 4 we get,
2x=6

=x=3

Putting the value of x in equation 4
3+y=2

=y= -1

The Solution of the given system of equation is 3 and -1 respectively.

Question 46

X-y+z=4



X-2y-2z=9
2x+y+3z=1

Soln:

2XHY+3Z=T 3

From equation 1

z=4-x+y

z= -x+y+4

Subtracting the value of the z in equation 2 we get,
X-2y-2(-x+y+4) =9

= X-2y+2x-2y-8=8

Subtracting the value of z in equation 3, we get,
2x+y+3(-x+y+4) =1

= 2x+y +3x+3y+12 =1

= -x+4y=-11

Adding equation 4 and 5 we get,
3X-x-4y+4y=17-11

= 2x=6

=x=3

Putting x=3 in equation 4, we get,

9-4y=17

= -4y=17-9

=y=-2

Putting x= 3 and y=-2 in z= -x+y+4 , we get,
7= -3-2+4

=-1

The Solution of the given system of equation are 3 , -2 and -1 respectively.



Question 47
X-y+z=4
X+y+z=2
2x+y-3z =0

Soln:

From equation 1

=z= -x+y+4

Substituting z= -x+y+4 in equation 2 , we get ,
=XHYH(XHYHA) = 2

= X+y-x+y+4 = 2

=2y =2

=y=1

Substituting the value of z in equation 3
2x+y-3(-x+y+4) =0

= 2x+y+3x-3y-12 =0

Putting the y= -1 in equation 4
5x-2(-1) =12

5x =10

=x=2

Putting x=2 and y = -1 in z =-x+y+4
Z=-2-1+4

=1

The Solution of the given system of equations are 2 , -1 and 1 respectively.



